BEET 05

rnh

TR T LD S D Bt milin g ERA N SE M IE TR (B 1)

BT RN A0 D ST ORM SIS ERASFHETR (B 15) 3, RIZEDDEIAITLD,
YN e XL iy

B15 BABRETEORBEICEANASHEENZNS3, 520 THAZBENL, mAEETEORELZENNSEHBENEN
1, 157, 520TMHET 5%,

2 WABHTEOMIEDKIED Xy M OV EEX Iy T & O&FET NI EZOBRARHTYEOE&FIT., [H1E BARH
FHEME] 2k 5,

SFTHE9 A 2 AR

%lé

INTHR D bR H G

63



2

1R OOmARKMBTRHEME
(FAL 1)
K TH FHIE AT O i IE4E at
6 X & 0 3, 520 3, 520
1 JeE. i Bj) 4 0 3, 520 3, 520
% a 7t 1, 154, 000 3, 520 1, 157, 520

64




&

(A M)
K H I IERTO%A i E%E Gl
2y % # 5,934 3,520 9, 454
2 1% Y # 1,438 3,520 4, 958
% i = #t 1, 154, 000 3,520 1, 157, 520

65




N T IE P SR S IE Bl R

1 ¥ 5
g CHEAr 1)
K i ERT O FHE i EAR Ft

1 1% H = i = = P (£ Fa B 569, 661 0 569, 661

2 ff H Bl K [6) T iﬁz Bl 1 0 1

3 A 4 583, 336 0 583, 336

4 244 &> 1 0 1

5 & I A 1,001 0 1,001

6 JeE 53 s & 0 3,520 3,520
5 A A #t 1, 154, 000 3, 520 1, 157, 520

66




w M (Hifr  TH)
HEER O A TRNGR
K FHERTOFH HIEAR 7t k¥ E 1%} T -
ERH4 | # F E] = o
1 # % # 5,934 3,520 9, 454 3, 520
2 1% W e E RS O A A 1, 146, 065 0| 1,146,065
3 W 53 t & 1,001 0 1,001
4 ¥ fi # 1, 000 0 1, 000
% s =) 7t 1, 154, 000 3,520| 1,157,520 3, 520

67




2 W A

() 6 EHEXHE (TH) 1 EEMB4 (B2 T
— ‘ . i .
H FHIERTO%AE i IE %A &t i 7 % = G Ef]
1R %5 2 [E 4 Bh 4 0 3, 520 3,520 | 1 &L - FBTCK 3, 520 TEL - PR CKEFEEEME (T -
EREERMH & TB CHBA N E T )
7t 0 3, 520 3, 520

68




3 @ H
GR) 1 BBt () 2 g (B TH)
H WIERTO%E | M 1E %4 ﬁrtgg?ﬁﬂﬁffwg i 3 B
HIOKA | 1 H : & A R — ihe R B
EELHE[E [ o W @ | 7| % &
11 I # 1,438 3, 520 4,958 3, 520 12 ZFE 8 3,520 01 SR EERMINERICET
HRE 3,520
0101 HHIEREERBNEHFICE
THERE 3,520
12 > AT ARIEZEEE 3, 520
i 1,438 3, 520 4,958 3, 520

69




